o0 a ) (cm)

Ratio

~

o(d o) (rad

Xy

10—2 .

=

..........................................................................

0.95%

1072

0 1 2 3

a(d d) (cm)

0.950

e

=

e A

eSTLOWPT_TUUUevT

CRFET
—CKFREFit-testLowPt_1000evt
CKFREFit-OR-testLowPt 1000evt
“CKER
—CKFR

EFit-ORK-testLowPt_1000evt
EFit-OR4-testLowPt 71000evt

mline)

..........................................................................

TP @ (PCA to beamline)

o p,/p,)

i

e (R N é
TP @ (PCA to beamline)

=
___I__I__I_;I_%I__I__I__
——
—




	Contents
	Page 1


